Figures

Zonal- and time-mean distribution of zonal wind (U), mass stream function
(MSF), and temperature (Temp) are shown.
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270° by dcpam 360° by dcpam

11



Ls=0-30 angular momentum

pressure

]

°
8
o
7
30

0
(degree_north)
latitude

CONTOUR INTERVAL = 1.000E+00

Figure 61: ANGMOM at Lg=0°-30°

by dcpam

Ls=30-60 angular momentum

pressure

60 90
(degree_north)

-60 -30

latitude

CONTOUR INTERVAL = 1.000E+00

Figure 62: ANGMOM at L;=30°-60°

by dcpam

Ls=60-90 angular momentum

=90 -60 -30

T
6.0
6.00

pressure

80 90
(degres_north)’
latitude

CONTOUR INTERVAL = 1.000E+00

Ls=0-30
tFa)
£-2

mass stream function

pressure
)

'
Q.0 2
b i
= [N
. , , ! .
L 0 Eq e 20
(degree_north)!
latitude

CONTOUR INTERVAL = 1.000E+01

Figure 64: MSF at Ls=0°-30° by dc-

pam
Ls=30-60mqss stream function
Pa)
E-2 T T T T T
E-1F 3
© Eaf 3
5
2
4 o
- 7/—\’“%7 00—
E2 [
(=
== S5}
€3 1 . ; . .
—90 —60 —30 o 30 60 20
(degree_north)
lotitude

CONTOUR INTERVAL = 1.000E+01

Figure 65: MSF at Ls=30°-60° by dc-

pam
Ls=60-901mqss stream function
(Pa)
E-2 T T T T T
E-1E 3
© EOF 3
@
3
s EBE | % 3
AN
esE | . i . |
=90 —60 —30 o 30 60 %0

(degree_north)
latitude

CONTOUR INTERVAL = 1.000E+01

Figure 63: ANGMOM at Lg=60°-90°
by dcpam

Figure 66: MSF at Ly=60°-90° by dc-
pam

12



Ls=90-1 QOungu\or momentum Ls=90-120, 455 strearn function
(Pa) {Pa)
T T T T T E-2 T T T T T
E-1 E-1F 4
(<]
o © EOF g
H 2 <= 50
4 2 )
& s erf fve El=he
2 o
) ’
el = JJ( %0
o
o ¢ -60
L E3 o Lo L -9
60 0 Ze0 —80 —30 a 30 0 3
(degree_north)! (degree_north)
latitude latitude
CONTOUR INTERVAL = 1.000E+00 CONTOUR INTERVAL = 1.000E+01

Figure 67: ANGMOM at Li=90°- Figure 70: MSF at Ls=90°-120° by
120° by dcpam dcpam

Ls=120-15(gular momentum Ls=120-13ss strear function
(Pa) (Pa)
E-2 E-2 T T T T T
E-1 E-1F 4
0
o o o o 3
a 2 - 60
8 3
4 e o 30
a £ a E1F 4
7= : .
0p.
~ 4B
£2 Z33 =
Z 1 -60
p —
€3 . €3 \ . , . . -e0
-90 60 90 —90 —60 -30 Q 30 60 90
(degree_north) (degree_north)!
Iatitude Iatitude
CONTOUR INTERVAL = 1.000E+0Q CONTOUR INTERVAL = 1.000E+01
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Figure 96: MSF at Ly=330°-360° by
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Figure 104: MSF at 1 Pa at L;=210°- Figure 107: MSF at 1 Pa at Ls=300°-
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Figure 105: MSF at 1 Pa at Ly=240°- Figure 108: MSF at 1 Pa at L;=330°-
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Figure 109: Temp at Lgs=0°-30° by Figure 112: Temp at Ly=90°-120° by
dcpam dcpam

Ls=30-60  termperature Ls=120-150

temperature
Pa)
T T T T

Level

Level

]

60 50 =90 —60 —30 o
(degree_north)

30 60 90
(degree_north)

latitude latitude
CONTQUR INTERVAL = 1.000E+01

CONTOUR INTERVAL = 1.000E+01
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